
17aw 4d 4ac 13ac 19ac 12aw 11aw

8d 7ac 16aw 7d 2aw 2d 15aw

15ac 6d 1d 1aw 9d 1ac 10aw

18ac 14ac 3d 3aw 5d 10ac

The Norse gods rise up
after the end of  Valhalla

Cravat worn by 
William Wallace? Right out of  bed Tie that’s fashionable

An appliance for a
medical man Wise old computer? Trump 4 over an ace

Psychologist makes
suspicious sounds Squeezes Bess’s rear!

There’s nothing large
left in my girl Dull, dumb and dead

Worried a lot about
starting calculus in
base 8

Face-to-face 
characters put nothing 
before a narcotic Valued free trade

Dance has odd beat
Bars manage emptied
glasses

4 uses for this 
instrument

Jerk plans to return 
to work around
Saturday

A weapon fight 
requires energy Play school

It’s understood
diplomacy needs an
international leader

Eliot’s stories
Play with the tails of 
cats and mice

Reportedly the 
bull ring?

The Territorial Army
builds character

Drag model gets a 
plug? String theory’s origin February 2010
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Every across solution contains a word that 
is ignored in the subsidiary part of  the clue. 
The additional words are of  a type.
Clues are presented in alphabetical order 
of  their solutions
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